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Solving Sequence

12—

28 >7—>3—>4—>9—>5—>1->10—>6—>12> 11> C5,C10
C C12 €11

A knot diagranﬂ €7 C2 €3 €3 €4 €1 Cg
Ideals for irreducible componentfbf Xpar

= (w?—u™ 4+ +2u—1)

* 1 irreducible components of dim¢ = 0, with total 72 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIP=@W?—u™ 4. +2u—1)

(i) Arc colorings
0
a2 = u
ag —
a7 =
as =

aq =

u9—|—2u7—|—u5—2u3—u>

—ut6 — 41t — 812 — 8ul0 — 448 + 208 + 4ut + 202
w4+ Tu 4w+ 1
w30 4+ 8u 4 -+ 2ut + u?
—u?? — 6u?! — 16u® — 206" — 4u'® + 220" + 260! + 6u” — 9u” — 6u®
uB +Tu?t 20t 4
wb? + 17080 - —6ub + 1
ailp = \ —

—ult = 3ul2 — 410 — ¥ 41 >

(
(
(
(
(
(
(
(
(

u%? — 18u80 + - 4 8u? + 3u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u™ — 445 + ... 4+ 8u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! w41 4 100+ 1
C2, C7 WPt —2u—1
C3,C4,Cs w4420 — 17
Cs,C11 -t -1
Cg, C12 w? -3+ —18u+3
Co u™ — 114" + .- — 18764u + 1889
10 w439 20+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1 Yy =19y - =20y + 1

ca,C7 y P+ A4y 107 41

€3, ¢4, Cg y™? —79y™ + .- — 10740y + 289

Cs,C11 Yy =39y - 2y7 1

Cg, C12 Yy +61y" 4+ — 624y +9
¢ 72 71

9 y'© =31y’ + - — 2222228y 4 3568321

€10 Yy -1y e —dy 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/—1C5) Cusp shape
u = —0.439849 4 0.9273131 0.59296 — 2.153881 0.+ 3.346351
u = —0.439849 — 0.9273131 0.59296 + 2.153881 0. —3.346351

u= 0.127748 4- 0.9471941

—2.02452 — 1.359761

—10.77685 + 3.460531

u= 0.127748 — 0.9471941

—2.02452 + 1.359761

—10.77685 — 3.460531

u = —0.351185 + 0.8660431

—0.38120 — 1.625891

—2.66925 + 4.119421

u = —0.351185 — 0.8660431

—0.38120 + 1.625891

—2.66925 — 4.119421

u = 0.461087 + 0.9624601 0.08467 4 6.285011 0
u= 0.461087 —0.9624601 0.08467 — 6.285011 0
u=0.344819 4 1.0192801 —3.62015 + 2.921411 0
u=0.344819 — 1.0192801 —3.62015 — 2.921411 0
u= 0.206282 4 1.0823601 —4.82312 — 0.177421 0
u= 0.206282 — 1.0823601 —4.82312 + 0.177421 0

u = 0.456210 4 0.7659071

—3.17229 — 2.095951

—5.70344 — 0.428321

u= 0.456210 — 0.7659071

—3.17229 + 2.095951

—5.70344 + 0.428321

u = —0.189472 + 1.0991001

—8.15714 + 4.740251

0

u = —0.189472 — 1.0991001

—8.15714 — 4.740251

0

u = 0.882022 + 0.0442791

—11.98020 — 0.808911

—10.79930 — 0.354131

u = 0.882022 — 0.044279]

—11.98020 + 0.808911

—10.79930 + 0.354131

u= 0.879727 4 0.056445]

—11.1703 — 9.86341

—9.53343 + 5.931371

u= 0.879727 — 0.056445]

—11.1703 + 9.86341

—9.53343 — 5.931371

u = —0.875707 4- 0.0507911

—7.91972 + 4.995281

—6.55693 — 2.829641

u = —0.875707 — 0.0507911

—7.91972 — 4.995281

—6.55693 + 2.829641

u = —0.225561 + 1.1016901 —8.49214 — 4.062171 0
u = —0.225561 — 1.1016907 —8.49214 + 4.062171 0
u = 0.474807 + 1.0200501 —2.88869 + 6.406791 0
u= 0.474807 — 1.0200501 —2.88869 — 6.406791 0
u = —0.489288 + 1.0239207 —5.98929 — 11.101701 0
u = —0.489288 — 1.0239207 —5.98929 4 11.101701 0
u = —0.862003 —7.62273 —11.5620

u = —0.467805 4 1.0413301 —6.73822 — 2.469061 0




Solutions to I

V=1(vol + v=1CS)

Cusp shape

1

IS

—0.467805 — 1.0413301

—6.73822 + 2.469061

0

u = —0.838828 + 0.0445321 —3.98379 + 5.008431 | —5.49188 — 6.000771
u = —0.838828 — 0.0445321 —3.98379 — 5.008431 | —5.49188 + 6.000771
u= 0.474990 + 0.6909121 —2.96171 4 6.033721 | —4.87395 — 7.353131
u= 0474990 — 0.6909121 —2.96171 — 6.033721 | —4.87395 + 7.353131
u= 0.825126 + 0.0223111 —2.88998 — 0.668591 | —2.98851 — 0.143291
uw= 0.825126 — 0.0223111 —2.88998 4 0.668591 | —2.98851 + 0.143291
u = —0.413409 + 0.6836831 0.00742 — 1.752161 | —1.16689 + 4.435891
u = —0.413409 — 0.6836831 0.00742 4+ 1.752161 | —1.16689 — 4.435891
u= 0.450918 + 1.2276901 —6.60070 + 3.858651 0
u= 0.450918 — 1.2276901 —6.60070 — 3.858651 0
u = —0.438765 + 1.2343007 —7.81587 4 0.515391 0
u = —0.438765 — 1.2343001 —7.81587 — 0.515391 0
u= 0470711+ 1.2252501 —6.45782 4 5.326321 0
uw= 0470711 — 1.2252501 —6.45782 — 5.326321 0
u = —0.442364 + 0.5209241 1.71123 — 1.630551 1.63060 + 4.276511
u = —0.442364 — 0.5209241 1.71123 + 1.630551 1.63060 — 4.276511
u = —0.481138 4 1.2278801 —7.51183 — 9.765371 0
u = —0.481138 — 1.2278801 —7.51183 + 9.765371 0
u = —0.590261 + 0.3362821 —4.08423 + 6.852691 | —6.08983 — 5.981071
u = —0.590261 — 0.3362821 —4.08423 — 6.85269] | —6.08983 + 5.981071
u = —0.463776 + 1.2442401 —11.37070 — 4.720511 0
u = —0.463776 — 1.2442401 —11.37070 4 4.720511 0
u = —0.436607 + 1.2575101 —11.90830 + 0.381921 0
u = —0.436607 — 1.2575101 —11.90830 — 0.381921 0
u=0.433445 + 1.2605101 —15.1956 — 5.25321 0
u= 0.433445 — 1.2605101 —15.1956 + 5.25321 0
u= 0.441141 + 1.2606501 —15.9636 + 3.85141 0
u= 0.441141 — 1.2606501 —15.9636 — 3.85141 0
u = —0.490825 + 1.2425601 —11.5116 — 9.90291 0




Solutions to I} V—1(vol + v/—1CS) Cusp shape

u = —0.490825 — 1.2425601 —11.5116 4+ 9.90291 0
u = 0.494249 + 1.2432901 —14.7502 4 14.80011 0
= 0.494249 — 1.2432901 —14.7502 — 14.80017 0
u=0.488923 + 1.2468201 —15.6129 + 5.72451 0
u= 0.488923 — 1.2468201 —15.6129 — 5.72451 0

u= 0.477316 + 0.4398781

1.50816 — 2.355101

0.54892 + 4.705861

u= 0477316 — 0.4398781

1.50816 + 2.355101

0.54892 — 4.705861

u = —0.586128 4+ 0.2750721

—4.62644 — 1.657351

—7.50243 + 0.638371

u = —0.586128 — 0.2750721

—4.62644 + 1.657351

—7.50243 — 0.638371

u= 0.556736 + 0.3206651

—0.97920 — 2.293131

—2.83779 + 3.076541

u= 0.556736 — 0.3206651

—0.97920 + 2.293131

—2.83779 — 3.076541

u= 0.411425

—1.15550

—8.76440




II. u-Polynomials

Crossings u-Polynomials at each crossing
1 u™ + 4™ = 10u? + 1
C2, C7 u? Fu™ = 2u—1
C3,C4,C8 u?— w4 4420 — 17
Cs, C11 W2 -1
Cg, C12 W =3+ —18u+3
€9 u™ — 11u™ + - — 18764u + 1889
c10 w39 - 20 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

€1 y? =19y + .. — 20y + 1

Cs, 07 Yy Ay 10y 1

€3, ¢4, C8 Y™ — 79y - — 10740y + 289

Cs5,C11 Yy =39y - 22 11

Cp, C12 Y+ 61y™ - — 624y + 9
¢ 72 71

9 Y™ = 31y™ 4 ... — 2222228y + 3568321

c10 y? -1yt —dy 41




